
Chuck outer

Positioning pin

Chuck inner

Steel ball SØ5.2

Chuck spring

Plastic ring

Felt

Bearing

Steel rod

Screw M4X12

Housing cover

Screew M5X10

Bearing clamp

Bearing 7X14X9

Straight pin

Big gear

Spacing washer

Screw M4X8

Bearing 6000-2Z

Circlip 10

Oil bearing

Gear Housing

Shoe

Saw blade

Baffle plate

Insulation cover

Hex screw M5X12

1

1

1

1

2

1

1

1

1

2

1

2

6

1

4

2

1

1

1

1

1

2

2

2

1

1

1

1

1

1

2

Self tapping screw  ST22x28

Plastic cover

Fixing plate

Washer Ø4

Screw M4X10

Armature (230V)

Air baffle

Bearing 607-2Z

Bearing cover

Hex key 4#

Self tapping screw ST4.2X50

Stator(230V)

4.8 socket

Motor housing

Nameplate

Carbon brush fix plate

screw ST2.9X10

Switch(230V)

Capacitor (0.33µF-3)

Right handle

Self tapping screw ST4.2X16

Power cord clamp

Power cord & plug

Cable sheath

Inductance

Power cord connector

Carbon brush cap

Carbon brush

Carbon brush holder

Trademark

Power cord connector

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

61

62

63

4

1

1

4

4

1

1

1

1

1

2

1

2

1

1

2

2

1

1

1

11

1

1

1

1

2

1

2

2

2

1

1

79741RECIPROCATING SAW 9A



79741RECIPROCATING SAW 9A


